JOURNAL OF THE CHUNGCHEONG MATHEMATICAL SOCIETY Volume **20**, No. 1, March 2007

ON THE STABILITY OF AN *n*-DIMENSIONAL QUADRATIC EQUATION

KIL-WOUNG JUN* AND SANG-BAEK LEE**

ABSTRACT. Let X and Y be vector spaces. In this paper we prove that a mapping $f: X \to Y$ satisfies the following functional equation

$$\sum_{1 \le k < l \le n} \left(f(x_k + x_l) + f(x_k - x_l) \right) - 2(n-1) \sum_{i=1}^n f(x_i) = 0$$

if and only if the mapping f is quadratic. In addition we investigate the generalized Hyers-Ulam-Rassias stability problem for the functional equation.

1. Introduction

The quadratic function $f(x) = cx^2 (x \in \mathbb{R})$, where c is a real constant, clearly satisfies the equation

(1.1)
$$f(x_1 + x_2) + f(x_1 - x_2) = 2(f(x_1) + f(x_2)).$$

Hence, the equation (1.1) is called the quadratic functional equation. In particular, every solution of the quadratic functional equation (1.1) is said to be a quadratic function. It is well known that a function $f: X \to Y$ between real vector spaces is a quadratic function (1.1) if and only if there exists a unique symmetric biadditive function $B: X^2 \to Y$ such that f(x) = B(x, x) for all $x \in X$ (see [1, 6]). The following problem of this kind had been formulated by Ulam during a talk before a Mathematical Colloquium at the University of Wisconsin, Madison, in 1940. Given a metric group $G(\cdot, d)$, a number $\delta > 0$ and a mapping $h: G \to G$ which satisfies the inequality $d(h(x \cdot y), h(x) \cdot h(y)) < \delta$ for all

Received December 27, 2006.

²⁰⁰⁰ Mathematics Subject Classification: Primary 39B52, 39B72.

Key words and phrases: Hyers–Ulam–Rassias stability, quadratic mapping.

The first author was supported by the second Brain Korea 21 Project in 2006.

The second author was supported by Korea Research Foundation Grant funded by the Korean government (MOEHRD)(KRF-2005-070-C00009).

Kil-Woung Jun and Sang-Baek Lee

 $x, y \in G$, does there exist an automorphism g of G and a constant k > 0, depending only on G, such that $d(g(x), h(x)) \leq k\delta$ for all $x \in G$? If the answer is affirmative, we would call the equation $g(x \cdot y) = g(x) \cdot g(y)$ of automorphism stable. The Hyers-Ulam stability of the quadratic functional equation was first proved by F. Skof for a function $f : X \to Y$, where X is a normed space and Y is a Banach space [11]. P.W. Cholewa demonstrated that the theorem of Skof is also valid if X is replaced by an abelian group [2]. Later, the Hyers-Ulam-Rassias stability of the quadratic functional equation was proved by S. Czerwik [3], J.M. Rassias [8] and Th.M. Rassias ([9, 10]). The stability problems of several functional equations have been extensively investigated by a number of authors and there are many interesting results concerning this problem [5, 7]. In this paper, we will extend Eq.(1.1) to an *n*-dimensional quadratic functional equation and then investigate the generalized Hyers-Ulam-Rassias stability of the *n*-dimensional quadratic functional equation as follows:

(1.2)
$$\sum_{1 \le k < l \le n} \left(f(x_k + x_l) + f(x_k - x_l) \right) - 2(n-1) \sum_{i=1}^n f(x_i) = 0$$

for all $x_1, \dots, x_n \in X$, where $n \ge 2$ is an integer number.

2. Solution of the functional equation (1.2)

THEOREM 2.1. Let X and Y be vector spaces. A mapping $f : X \to Y$ satisfies the functional equation (1.2) if and only if f is quadratic.

Proof. Let f be a quadratic function. Assume the equation (1.2) is true for n by induction argument. By (1.1),

(2.1)
$$f(x_i + x_{n+1}) + f(x_i - x_{n+1}) - 2f(x_i) - 2f(x_{n+1}) = 0$$

for all $i = 1, \dots, n$. Adding up (1.2) and (2.1), we have the desired equation (1.2) for n+1. Conversely, let f satisfy the equation (1.2). By letting $x_i = 0$ for all $i = 1, 2, \dots, n$, we have f(0) = 0. Replacing $x_i = 0$ for all $i = 3, 4, \dots, n$, we obtain the equation

$$f(x_1 + x_2) + f(x_1 - x_2) = 2(f(x_1) + f(x_2)),$$

which implies that f is quadratic. The proof is complete.

In Section 3, we investigate the generalized Hyers-Ulam stability of the functional equation (1.2) in the spirit of P. Găvruta [4].

3. Stability of the quadratic equation (1.2)

In this section, let X be a vector space and Y a Banach space. For the given mapping $f: X \to Y$, we define

$$Df(x_1, \dots, x_n) := \sum_{1 \le k < l \le n} \left(f(x_k + x_l) + f(x_k - x_l) \right) - 2(n-1) \sum_{i=1}^n f(x_i)$$

for all $x_1, \cdots, x_n \in X$, where $n \ge 2$ is an integer number. We denote by $\varphi: X^n \to [0, \infty)$ a function such that

(3.1)
$$\Phi(x_1, x_2, \cdots, x_n) := \sum_{k=0}^{\infty} \left(\frac{1}{4^k}\right) \varphi(2^k x_1, \cdots, 2^k x_n) < \infty.$$

LEMMA 3.1. Let a function $f: X \to Y$ satisfy f(0) = 0 and the inequality

(3.2)
$$\left\| \sum_{1 \le k < l \le n} \left(f(x_k + x_l) + f(x_k - x_l) \right) - 2(n-1) \sum_{i=1}^n f(x_i) \right\| \\ \le \varphi(x_1, x_2, \cdots, x_n)$$

for all $x_1, \ldots, x_n \in X$, where $n \ge 2$ is an integer number. Then

$$(3.3) \left\| \frac{f(2^m x)}{4^m} - f(x) \right\| \le \frac{1}{2n(n-1)} \sum_{k=0}^{m-1} \left(\frac{1}{4^k} \right) \varphi \underbrace{(2^k x, \dots, 2^k x)}_{n-times}$$

for all $m \in N$ and $x \in X$.

Proof. Now, we are going to prove our assertion by induction on $m \in N$. Put $x = x_1 = \cdots = x_n$ in (3.2). Then we obtain

$$\left\|\frac{f(2x)}{4} - f(x)\right\| \le \frac{1}{2n(n-1)} \varphi(x, \cdots, x).$$

Thus it holds good for m = 1. We assume that the assertion is true for m. By replacing x by $2^m x$ in the above relation and dividing 4^m the resulting inequality, then we have

$$\left\|\frac{f(2^{m+1}x)}{4^{m+1}} - \frac{f(2^mx)}{4^m}\right\| \le \frac{1}{4^m} \frac{1}{2n(n-1)} \varphi(2^mx, \cdots, 2^mx).$$

And so

$$\begin{split} & \left\| \frac{f(2^{m+1}x)}{4^{m+1}} - f(x) \right\| \\ & \leq \left\| \frac{f(2^{m+1}x)}{4^{m+1}} - \frac{f(2^mx)}{4^m} \right\| + \left\| \frac{f(2^mx)}{4^m} - f(x) \right\| \\ & \leq \frac{1}{2n(n-1)} \sum_{k=0}^m \left(\frac{1}{4^k} \right) \varphi(2^kx, \cdots, 2^kx). \end{split}$$

This completes the proof of the lemma.

THEOREM 3.2. Assume that a function $f: X \to Y$ satisfies f(0) = 0and the inequality (3.2) for all $x_1, x_2, \dots, x_n \in X$. Then there exists a unique quadratic function $Q: X \to Y$ satisfying

(3.4)
$$||f(x) - Q(x)|| \le \frac{1}{2n(n-1)} \Phi(\underbrace{(x, \dots, x)}_{n-times})$$

for all $x \in X$.

Proof. In order to prove convergence of the sequence $\left\{Q_m(x) = \frac{f(2^m x)}{4^m}\right\}$ we show that $\{Q_m(x)\}$ is a Cauchy sequence in Y. By (3.3), we have for $m_1 > m_2 > 0$,

$$\| \frac{f(2^{m_1}x)}{4^{m_1}} - \frac{f(2^{m_2}x)}{4^{m_2}} \|$$

$$(3.5) \qquad = \frac{1}{4^{m_2}} \left\| \frac{f(2^{m_1-m_2} \cdot 2^{m_2}x)}{4^{m_1-m_2}} - f(2^{m_2}x) \right\|$$

$$\leq \frac{1}{2n(n-1)} \sum_{k=0}^{m_1-m_2-1} \left(\frac{1}{4^{k+m_2}}\right) \varphi(2^{k+m_2}x, \dots, 2^{k+m_2}x).$$

Since the right-hand side of the inequality tends to 0 as $m_2 \to \infty$, the sequence $\{Q_m(x)\}$ is Cauchy in the Banach space Y. Therefore we may define a function $Q: X \to Y$ by

$$Q(x) = \lim_{m \to \infty} \frac{f(2^m x)}{4^m}$$

for all $x \in X$. By letting $m \to \infty$ in (3.3), we arrive at the formula (3.4).

26

Now we show that Q satisfies the functional equation (1.2) for all $x_1, \dots, x_n \in X$. By definition of Q,

$$\left\| \sum_{1 \le k < l \le n} (Q(x_k + x_l) + Q(x_k - x_l)) - 2(n-1) \sum_{i=1}^n Q(x_i) \right\|$$

= $\lim_{m \to \infty} 4^{-m} \left\| \sum_{1 \le k < l \le n} (f(2^m(x_k + x_l)) + f(2^m(x_k - x_l))) - 2(n-1) \sum_{i=1}^n f(2^m x_i) \right\|$
 $-2(n-1) \sum_{i=1}^n f(2^m x_i) \right\|$
 $\le \lim_{m \to \infty} 4^{-m} \varphi(2^m x_1, \dots, 2^m x_n) = 0.$

Thus Theorem 2.1 implies that Q is quadratic. It only remains to claim that Q is unique. Let $Q': X \to Y$ be another quadratic function which satisfies the inequality (3.4). Since Q and Q' are quadratic function, we can easily show that

(3.6)
$$Q(2^m x) = 4^m Q(x) \text{ and } Q'(2^m x) = 4^m Q'(x)$$

for any $m \in N$. Thus, it follows from (3.4) that

$$\begin{aligned} \|Q(x) - Q'(x)\| &\leq \frac{1}{4^m} \left(\|Q(2^m x) - f(2^m x)\| + \|f(2^m x) - Q'(2^m x)\| \right) \\ &\leq \frac{2}{4^m} \frac{1}{2n(n-1)} \Phi(2^m x, \dots, 2^m x). \end{aligned}$$

By letting $m \to \infty$, then we get that Q(x) = Q'(x) for all $x \in X$, which completes the proof of the theorem.

COROLLARY 3.3. If a function $f: X \to Y$ satisfies f(0) = 0 and the inequality

(3.7)
$$||Df(x_1, \dots, x_n)|| \le \varepsilon(||x_1||^p + \dots + ||x_n||^p)$$

for some $0 and for all <math>x_1, \dots, x_n \in X$, then there exists a unique quadratic function $Q: X \to Y$ such that

$$||f(x) - Q(x)|| \le \frac{2^{2-p}}{2(n-1)(2^{2-p}-1)}\varepsilon||x||^p$$

for all $x \in X$.

COROLLARY 3.4. If a function $f: X \to Y$ satisfies f(0) = 0 and the inequality

$$\|Df(x_1,\cdots,x_n)\| \le \varepsilon$$

for all $x_1, \dots, x_n \in X$, then there exists a unique quadratic function $Q: X \to Y$ such that

$$||f(x) - Q(x)|| \le \frac{2\varepsilon}{3n(n-1)}$$

for all $x \in X$.

Now, we investigate another stability question controlled by a function $\varphi: X^n \to [0, \infty)$.

THEOREM 3.5. Assume that a function $f : X \to Y$ satisfies the inequality (3.2) for all $x_1, x_2, \dots, x_n \in X$ and φ satisfies the condition

$$\hat{\Phi}(x_1, x_2, \cdots x_n) := \sum_{k=0}^{\infty} 4^k \varphi(\frac{x_1}{2^k}, \cdots, \frac{x_n}{2^k}) < \infty.$$

Then there exists a unique quadratic function $Q: X \to Y$ satisfying

$$\|f(x) - Q(x)\| \le \frac{1}{2n(n-1)} \hat{\Phi}\underbrace{(x, \cdots, x)}_{n-times}.$$

Proof. The proof is similar to that of Theorem 3.2.

COROLLARY 3.6. If a function $f : X \to Y$ satisfies the inequality (3.7) for some p > 2 and for all $x_1, \dots, x_n \in X$, then there exists a unique quadratic function $Q : X \to Y$ such that

$$||f(x) - Q(x)|| \le \frac{2^{p-2}}{2(n-1)(2^{p-2}-1)}\varepsilon ||x||^p$$

for all $x \in X$.

References

- [1] J. Aczel and Dhombres, *Functional equations in several variables*, Cambrige Univ. Press, Cambrige, 1989.
- [2] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math. 27 (1984), 76-86.
- [3] S. Czerwik, On the stability of the homogeneous mapping, C. R. Math. Rep. Acad. Sci. Canada 14 (1992), 268-272.
- [4] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436.
- [5] K. Jun, H. Kim and I. Chang, On the Hyers-Ulam stability of an Euler-Lagrange type cubic functional equation, J. Comput. Anal. Appl. 7 (2005), 21-33.
- [6] Pl. Kannappan, Quadratic functional equations and inner product spaces, Results Math. 27 (1995), 368-372.
- [7] C. Park, Generalized (θ, φ)-derivations on Poisson Banach algebras and Jordan Banach algebras, J. Chungcheong Math. Soc. 18 (2005), 175-193.

- [8] J. M. Rassias, On the stability of the Euler-Lagrange functional equation, Chinese J. Math. 20 (1992), 185-190.
- [9] Th. M. Rassias, On the stability of the quadratic functional equation, Mathematica, in press.
- [10] _____, On the stability of the quadratic functional equation and its applications, Studia Univ. Babes-Bolyai Math. **43** (1998), 89-124.
- [11] F. Skof, Proprietà locali e approssimazione di operatori, Rend, Sem. Mat. Fis. Milano 53 (1983), 113-129.

*

Department of Mathematics Chungnam National University Daejeon 305-764, Republic of Korea *E-mail*: kwjun@cnu.ac.kr

**

Department of Mathematics Chungnam National University Daejeon 305-764, Republic of Korea *E-mail*: mcsquarelsb@hanmail.net